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QUESTION 1

The following question requires your selection of CCC/CCE Scenario 6 (2.7.50.1.3) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. What is the relative
frequency of unit costs from Atlanta, GA? 

A. $40.59 

B. 3 

C. $48.33 

D. 33.33% 

Correct Answer: D 

 

QUESTION 2
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The following question requires your selection of CCC/CCE Scenario 28 (3.7.50.1.7) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. Given a unit price contract
between the owner and contractor, each assumes the following: 

A. Bid unit rate, owner quantities can exceed estimate range Contractor can perform above 

B. Bid unit rate, owner quantities are within estimate range 

C. Contractor can perform at or below bid unit rate, owner quantities can exceed estimate range 

D. Contractor can perform at or below bid unit rate, owner quantities are within estimate range 

Correct Answer: D 

 

QUESTION 3

An effort by a prime contractor to reduce the price quoted by a vendor, by providing the bid price to other vendors in an
attempt to get the other vendors to underbid the original price quoted is referred to as: 

A. Costing 
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B. Cost-price analysis 

C. Bid shopping 

D. Negotiating a best and final offer 

Correct Answer: C 

 

QUESTION 4

The following question requires your selection of CCC/CCE Scenario 2 (2.3.50.1.2) from the right side of your split
screen, using the drop down menu, to reference during your response/choice of responses. 9,375 hours have been
expended to date. Planned completion at this time is 75%. The project is determined to be 66% complete. Based on
current trends, how many hours will be expended at project completion? 

A. 16,215 

B. 14,201 

C. 12,000 

D. 10,526 

Correct Answer: D 

 

QUESTION 5

A major theme park is expanding the existing facility over a five-year period. The design phase will be completed one
year after the contract is awarded. Major engineering drawings will be finalized two years after the design contract is
awarded and construction will begin three years after the award of the design contract. New, unique ride technology will
be used and an estimate will need to be developed to identify these costs that have no historical data. 

When analyzing a precedence diagram schedule, the "backward pass" 

A. Allows total float to be calculated 

B. Determines the duration of each activity 
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C. Calculates the earliest allowable start and finish times for the activities in the schedule 

D. Allows activities to finish as soon as all their \\'predecessor\\' relationships are satisfied 

Correct Answer: C 
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